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2

. The roots of the equation z° — 2 — 6 = 0 are

(a) 2,3 (B) =2,3 () 2,-3 (d)-2,-3

-

2. The equation 2z + 3y = 0 has

* “(a} Nosolution (b) exactly one solution (c¢) exactly two solutions
| (d) infinite solutions

3+ The roots of the equation 22 + 2z -+ 2 = (0 are

Yoa) 1—41-0 (b)) ~1—i,1—i () 1—i 1+ (d)—=1-i~1+d

//,_,

2
-

4 6
/ 4. The determinant of the matrix | 2 4 6| is
3 5 7

(

L@ o b)) 1B () 48 d) 105
- 2 2 2
e
/. The determinant of the matrix {0 2 2| is
" 00 2

(a) O ‘{b) 8 (e) 16 (d) 32

/»/ 6. An square matrix whose inverse does not exist, is called

N (a) Non-singular (b} Singular (¢} Symmetric (d) Skew-symmetric
//
/ logyp2? =
\  (8) 2+logyg (b) 2—logyz {c) 2logyyx (d) (logygz)?
‘ 8. logigz =
/'\
R (a) Inl0lnz (b) ljﬂn—izg {c) %‘3% (d) m.

" . The base of natural logarithin is
| (@) 0 (b) 10 (c) e (d)2

10. The function sinh z is defined as

[ ) S5 ) el () £ (g e

T o
—




" 11. The function sec z is not defired on the point

S we=0 @) z=ws © w2 @n

; ; 12. The function tan z is defined as
. T iz SR £ —iT T _ i3 1‘.r+ —iz
A W s BSOS GIE=
! , 13. The binomial coefficient O, is defined as

\fﬁ (a) (ﬁfr;cf)'T “(b) e (o {r?ikk!)! (d) ni!k)f

i

| / 14, The area of a circle is
/ Aa) 2o (B) wr (¢) m? (d) wrd
~ One angle of a regular hexagon is equal to
S (a) 60° (b) 90° “{c) 120°  (d) 150°

16. The sum of cube roots of unity is equal to

(a) 1 (b) =1 (¢ 0 (d)oo

. 17, cos(z + y) =
7< .A{8) coszcosy+sinzsiny (b) coszcosy —sinzsiny

/
(c) coszcoshy —sinzsinhy (d) coszcoshy+sinzsinhy

18. Let z =z + 4y, Then cosz =

(a) coszcosy —isinzsiny  (b) coszeosy +isinzsiny

/.\
/
/

(¢) coszmcoshy —isinzsinhy  (d) coszcoshy +isinzsinhy.

~19. sin2z =
/ (a) sinz +cosy  (b) sinz —cosz (c} sinz 4+ cos’z  (d) 2sinzcosz
20. cos2x =
\/\ _(a) cos®z —sin*z  (b) 2cos?z —1 (¢) 1—2sin’z  (d) All of above.
21,“The number 7 is
\ /(a) an integer (b} a rational number (c) an irrational number

~ (d) a natural number

22. ‘Fhe number 272 i8

(a) an integer (b) a rational number {c} an irrational number

(d) a natural number.



23//1urnber whose square is a negative number is

a real number (b} a complex number (¢) an integer

e range of the function sinx is

-ma] () (=mm) () 11 (d) (-1,1)

//The range of the function tanz is
@ Al O (-mm) (9 [-L1] (@) (—o0,00).

2/6./1“}16 equation of straight line in given hy

(d) none of the ahove

\// (a) Y¥*=mz+c (Byy=mr+c () y=mzi+c (d) Y¥=mal+c

27. The equation of straight line passing through the points (4,2) and (1,3) is
(a) 3z—y=10 (B)3x+y=10 (c) z—-3y=10 (d) z+3y=10.

\
\
7&
K
\*\
X

W&
\
.

. The radius of the circle (z ~ 1)2+ (y —2)2 =16 is
(a) 16 (b} 4 -{c) 2 (d) 1

. The radius of the circle 2% + 4% + 2z + 2y + 1 =0 is

@5 (B4 ()2 (41

0. The slope of tangent to the curve y =22+ 3z + 6 at £ — 2 is

(a) 6 (b) 7 (¢) 3 Ad) 2

2z
. The equation 543 + yg_ == ] represents

{a) circle (b) parabola {c) ellipse “(d) hyperbola

. The equation 922 — 4y? = 36 represerts

circle (b) parabola . (c) ellipse (d) hyperbola.

he derlvatwe of tanz is
(a) cosz {b) sinzx {¢) secx "(d) sec?z

. The derivative of cosztan z is

(a) cosz (b) tanz (c) sinzx “(d) —sinzsec?z.

. The integral of cot z is

{a) In(sinz) (b) In(cosz) (c) cosz  “{(d) In(cosz) + In{sin z)

. The integral of ze®” is

- St

(a) e +e (b) & +c (€) 2¢%" + ¢ (d) e + 2227 1.



37. a%(logua:): .

(&) 3 () Llogaz () zh;  (d) ilna
38 [7 2%z =

(a) 32 (b) =16  “{c) 16 (d) o.

o

39\. :I}ife/;ﬁm and product of roots of the equation 2z¢ + 2 + 1 = 0 are
@) S =i =147 Y =41 () L1 @21

-

0
40. The multiplicative inverse of the matrix is
. 21
X -1 0 -1 0 « 110 1 0
(a) (b) (©) (@
-2 -1 2 1 21 -2 1

41. The general solution of the differential equation y"(z) — 5y/(z) + 6y(z) = 0 is
(a) c1sin2z +cosin3z  (b) ¢ cos2x + ¢y cos 3z

(¢) crsin2z +egcosdz  {d) c1e® + cped®

42. The function f(z) = « is
L (a) a constant function (b) the identity function (¢} an even function

(d) None of the above

?/I{the dot product of two vectors is zero then the vectors are

z// " (a) parallel (b) equal - (c) perpendicular  (d) None of the above

t;;kOne degree is equal to
N () wradians (b) w/2radians  (c) /4 radians *(d) 7/180 radians

sinz

45, limg_,o 802 -
X ()0 (B 1 (@ oo (de

.46 limy oo (14+ 1)
X (@) 0 (b)) 1 () oo (de

47. The functions log, z and e are

% (a) same  (b) reciprocals of each other  (c) inverses of each other
*_ (d) None of the above

48. Set of irrational numbers is a subset of
(a) Set of integers (b} Set of rational numbers (c} Set of real numbers

i (d) set of algebraic numbers



). The intervals (0,1) and (-1,0) are

(4} overlapping (b} disjoint  (c¢) neither disjoint nor overlapping

d) both disjoint and overlapping

50. The eqiiation y = (z — 1)? + 2 represents

a) acircle (b) aparabola () two parallel lines  (d) two perpendicular lines
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\j he roots of the equation z® —z — 6 = 0 are

-

(0) 2,3 (5-23 (¢) 2,-3 (d) -2,~3

. 2. The equation 2z + 3y = 0 has
\;k..‘(a} ‘/1\?0 solution  (b) exactly one solution (¢} exactly two solutions

i

J (d) infinmite solutions

3. The rdots of the equation z° + 2z + 2 = 0 are

\/,

"

~1—d,1-i (b} =1-4,1=1 (¢) 1—i,1+i (d) =1—1i,~1+4.

2 4 6

4. Thedeterminant of the matrix [ 2 4 6| is

(a) 0 (b) 15 (c) 48 (d) 105
. 2 2 2

5. Phe determinant of the matrix [ g 2 2| is
e 00 2

v
@ 0 (b)) 8 (¢ 16  (d) 32

. An square matrix whose inverse does not exist is called

"
\/ (&) Non-singular ~ (b) Singular  (¢) Symmetric  (d) Skew-symmetric

| 7/6!%10502—

Iy (W
V@) 24loggr () 2-logez (o) 2logigz (d) (loggoz)?

8. I6gyz =
“-’/ In10} by lni0 V{::i: 1

(2) m10lma (b)) £2 ('R @) roEs

“ The base of natural logarithm is

@ m @ @2

10. The fiincfion sinhz is deﬁfled as ] o
() &= (b) e (c) &=f (d) €4et



12. The function tanz is deﬁned as

7 11. The functlon sec x is not defined on the point
m—(} by z==n/4 (c¢) /2 (d)=

-1z

e O U
\Qi’u The binomial coefficient "}, is defined as .
{ kM k! [
SN (@) - o (b)) MG () e (g TR

e area of a circle is

"
2nr (e} ar?*  (d) nrd

15. /,mé ‘angle of a regular hexagon is equal to
60°  (b) 90° (¢ 120°  (d) 150°

%6 The sum of cube roots of unity is equal to
T -1 (@0 (d) oo
17. cos(z +y

cosrcosy +sinzsiny (b} cosxzcosy —sinzsiny

(c) coszcoshy —sinzsinhy  (d) coszcoshy + sinzsinhy

18. Let z = 2 +14y. Then cosz = -

. yd
(a) coszcosy—isinzsiny  (b)Coszcosy + isinzsiny

{c) coszcoshy —isinzsinhy  (d) coszcoshy + isinzsinhy.

LP/‘
k/zﬁ):nm +cosy  (b)sinz —cosz {c) sin®x+costr

d) 2sinzcosz

T
/ cos’z ~sinz  (b)2cos?z—1 () 1-—2sin?x {(d) All of above.

& number 7 is

7

{a) an integer (b) a rational number (c} an irrational number

(d} a natural number

22. Th 22
e number = is -

/ (a) an integer {b) a rational number (c)\’gn irrational number

\>/r\(d) a natural number,



\// 23. A number whose square is a negative number is

—~
(a) areal number  (b) a complex number  (c) an integer  (d) none of the above

/ 24. The range of the function sin z is

() [~ma] O (-m7) (o) [-L1]  (d) (=1,1)

P

95. The range of the function tanz is

vl @) Al () (=mm) () 1,1 (d) (~o0,00).

26. The equation of straight line in given by
2 el 2 2 2
L7 @) yr=mzde (B)y=mzte (@ y=mzl+ce (d) yP=mzltc

\’47. The equation of straight line passing through the points (4,2) and (1,3) is
s

S (@) 3z—y=10 (D)3cty=10 (c) z-3y=10 (d) =+ 3y=10.
L/Q&/’ﬁradius of the circle (z ~ 1)2 + (y —2)% = 16 is
(a) 16 (b) 4 (c) 2 (d) 1

y@;é,dius of the circle 22 + 42 + 2z 4+ 2y +1 =0 is
@ 4 @2 @

><{}. The slope of tangent to the curve y = 22 + 3z + 6at z = 2 is
g
L"/
y, ‘.(a) 6 (b} 7 ()" 3 (d) 2

2
\/<1. The equation %; + % = 1 represents
e

- (a) circle (b)-"parabola (c) ellipse (d) hyperbola

32. The equation 922 ~ 492 = 36 represents

>\_. (a) circle (b) parabola (cjuﬂmaiipse (d) hyperbola.

(a) cosz (b) sinz {¢) secx (d)" sec? z

34. The derivative of cosz tan z is

£ \/"”““‘
%(a) COS T (b} tanz (¢) sinz (d) —sinzsec? z.

35. The integral of cot z is

7\‘ (a) In(sin. ) (b)‘/ljcos x) (c) cosz (d) In(cosz) + In(sin )

/
36. The integral of ze® is

2
\/\ (a) e +¢ (b) & +c (c) 267" + ¢ (d) e +22%" 1 ¢



7. iz IOga .’E)
(a)

1 39. The sum and product of roots of the equation 222 + z + 1 = 0 are

/3
\/K
B
(a) (b} —16 (¢) 16 (d) 0.

‘/a ~1=iVT,—-1+4/7 (b) -3 (¢) -1,1 (d)21

10
40. The multiplicative inverse of the matrix is

21

. 10 0
Vo [ e @ !
2 1] 21 -2 1

\7”\
- Thegeneral solution of the differential equation 4”(z) — 5¢/(z) + 6y(z) = 0 is
c18in2z +czsindz (b)) c1cos2z + cpcos 3z
v
c1sin2z +egeosd3z  (d) c1e®® + cpe®®

42. Thé function f(z) =z is

//

L/ " (a) aconstant function  (b) the identity function  (¢) an even function
(d) None of the above

43 A4t the dot product of two vectors is zero then the vectors arc
/ parallel (b} equal (c) perpendicular (d) None of the above
- 44. One degree is equal to
7/\\ ‘(/a/) # radians  (b) /2 radians  (c) «/4 radians  (d) #/180 radians

%40 hmg_,\g sinz
© o (a) o b}# oo (d)e

\</= 46 e (14 2)"
SN (a)/@ (b) 1 {c) oo (d)e

Mf/The functions log, x and e are
. (W
\J// {a) same  (b) reciprocals of each other (c) inverses of each other
(d) None of the above

48. Set of irrational numbers is a subset of

\f\ "(a/) Set of integers (b} Set of rational numbers  (c) Set of real numbers

(d) set of algebraic numbers

I



r

\\ 49. The intervals (0, 1) and (-1,0) are \//
(a) overlapping (b} disjoint  (c) neither disjoint nor overlapping

(d) both disjoint and overlapping
50. The equation y = (z — 1)? + 2 represents

7\ (a) & circle (b) a parabola  (c) two parallel lines  (d) two perpendicular lines

/
i
/
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|

2

1. The roots of the equation z* — z — 6 = 0 are

@) 2,3 (b) -2,3 (c) 2,-3 (d) -2,-3

2. The eguation 2z + 3y = 0 has

No solution  (b) exactly one solution  (¢) exactly two solutions

} infinite solutions

The roots of the equation z? + 2z + 2 == 0 are
\#(a) ~l—i,1—¢ (b) ~1-41-i (¢) 1—4,1+4 (d)—~1—i,—1+1.

2 46
. The determinant of the matrix | 2 4 6] is

{ 3 5 7
(a) 0 (b) 15 "»(éﬂs (d) 105.

2
\ . The determinant of the matrix 2 is
/ 0

(a) 0 B & (o) 16 4 32

- An square matrix whose inverse does not exist is called

Non-singular ~ (b) Singular  (¢) Symmeiric  {d) Skew-symmetric

/
IOg]_O 3: =
(a) 2+1logygz (b) 2—logypx (%Iogw x (d) (logygx)?

. 8. logygr =
7<\ (a) In10Ilnzx (B‘S/Iﬁl—lf (c) 11?1% (d) m—.
9. The base of natural logarithm is
>< Wo 1 ©e @2

10. The function sinh z is defined as

—z

() &&= () S5 (o £ (q) Sl

% —_p— I




. The function secz is not defined on the point
(a) =0 (b) z=n/4 (c) =/2 \ch)/7r

N The function tan z is defined as /
QO e e O -

/ i{efr e =)

\L\B' The binomial coeflicient "Cy, is defined as
n—k)! N k! !
T @) (b)) M mlkkl)! (@) 7%

{
14. The area of a circle is

7& el 2rr () =r (¢} wr? (d) wr?

i
!

15. One angle of a regular hexagon is equal to
\![\.. (a) 60° (b} 90° (¢} 120° (MO“
| /X’ﬁ/ 'i“he sum of cube roots of unity is equal to
U/ () 1 (b) ~1 \(6)/0 (d) oo

17. cos(z +y) =

{a) coszcosy+sinzsiny (b) coszcosy —sinzsiny

"~ {c) coszcoshy —sinzsinhy d) coszcoshy+sinzsinhy

18. Let z = z +dy. Then cosz =

w/\ (a) coszcosy —isinzsiny ) coszcosy + isinzsiny
/ 7 (c) coszcoshy —isinzsinhy (d) coszcoshy + isinzsinhy.

s

/9./ sin 2z = R
N

{a) sinz4+cosy (b)sinz—cosz (c) sin®z + cos’z V{ﬂ'ﬁsinx COS X
20. cos2z =

/
\ (a) cos?z —sin®z \(/Bﬁcosz z—-1 (c) 1-2sin®z  (d) All of above.
/

21. The number 7 is

.
\/J\\ (a) an integer (%ationa} number (c¢) an irrational number

(d) a natural number

22. The numbet % is
(a) gaf integer (b} a rational number (¢} an irrational number
}5 a natural number.



The range of the function sinx is s -
/-) —ma] () (=) M@ 1,1

\

[N
iy

. The equation

. The integral of cot z is

(a) € +c¢

A number whose square is a negative number ig

a real number (b} a complex number  (c) an integer

(d) (~1,1)
he range of the function tanz is

(=77 (b)) (~m7) (o) [-1,1] —00, 00)

. The equation of straight line in given by

a) Y¥=mz+e MTWL$+C () y=mzl+c () Y =ma?+c

. The equation of straight line passing through the points (4, 2) and (1,3) is

(a) 3z —y=10 (b)3z+y=10 (c) z—3y=10 ) g;+3y=1o

. The radius of the circle (z — 1)2 4 (y — 2)?
(a) 16 Oy 1 (c) 2 (d) 1

=16 is

. The radius of the circle 22 + 4% + 2z + 2y + 1 = 0 is

@5 M4 w2 @1

. The slope of tangent to the curve y = 2% + 3z 4+ 6 at z = 2 is

(@) 6  (b) 7

© 3 () 2

2
Z + % = 1 represents

{a) circle (b) parabola (c) ellipse (d) hyperbola

. The equation 922 — 43 = 36 represents

(a} circle (b} parabola ellipse (d) hyperbola.
. The derivative of tanz is
—
(a) cosz (Bj/sinm {¢) secx (d) sec’z
. The derivative of cosz tan z is
(a) cosz tanx (¢} sinz (d) —sinasec? z.

"@;(cos z) + In(sin z)

(a) In(sinz) (b) In(cosz) (c) cosz

The integral of ze® is

(b) & +¢ (Eﬁe“’{+c

(d) e 4 222e%" 4 ¢,

(d) none of the above



37. %(ioga x) =
(8) § ) flogez  (© 7 (@ ihne
38. fo ridr = |
@ 32 () =16 @ 16 (o
39. The sum and product of roots of the equation 2% + z + 1 = 0 are

\/\ @{1—1\/7‘,—1“\/? (b) =15 (¢ -1,1  (d)21
/
/

' 1 0
40. The multiplicative inverse of the matrix is
; 2 1
-1 0 10 10 10
ﬁ ) (v) © (@)
( -2 -1 2 1 2 1 -2 1

1. The general solution of the di/f/fgrentiai equation ¢"{x) — 5y/(z) + 6y(z) = 0 is
/ a) ci1sin2z 4 cosindz D) ¢q cos 2z + eo cos 3z
{c) c1sin2z +cacosdz  (d) 1% + cpe®®
! 42. The function f(z) ==z is

/i
\7\ (a} a constant function  (b) the identity function  (c) an even function
/ * \Ld'ﬁ\lone of the above

‘ . 43. If the dot product of two vectors is zero then the vectors are
\}\\ (a) parallel (b) equal (c) perpendicular ‘-édﬁne of the above

/4./ One degree is equal to
o
\\/ (a) mradians (b} #/2radians (c) 7/4 radians  dJ 7/180 radians
sinic

/T Mm) 0 (B 1 (o) o (d)e
A 46, limn oo (14 1)

. o
7/\\(3,) 0 )1 (Yoo (de

47. The functions log, z and e® are

’ /= //
\)\ (a) same (b} reciprocals of each other  (c) inverses of each other
" - {d) None of the above

48. Set of irrational numbers is a subset of

/z\(/a/) Set of integers  (b) Set of rational numbers  (c) Set of real numbers
i set of algebraic numbers



9. The intervals (0,1) and (-1,0) are
/ (a) overlapping (b) disjoint {e} “neither disjoint nor overlapping
(d) both disjoint and overlapping
50. The equation y = {x — 1)? + 2 represents

o

(a) acircle (b) a parabola (c) two parallel lines .{bd’j)‘two perpendicular lines



Max. Marks: 50

Note: Make sure that you got 50 questions on your test. Each question carry equal marks.
1,/The roots of the equation z2 — z — 6 = 0 are b
7 () 2,3 ) 2,3 (¢) 2,-3  (d) —2,-3 LB R TV
2. The equation 2z + 3y = ( has

{a) No solution «{bJ exactly one solution  {c) exactly two solutions

' (d} infinite solutions

\/ The roots of the equation 22 + 2z +2 = 0 are
(a) ~1-i,1—i (b) =1—41—i (¢) 1—@l+i “d—1—i,—1+i.

2 4 6 {z N
. The determinant of the matrix | 2 4 6] is }
"
35 7
ATy 0 (b) 15 (c) 48 (d) 105
2 2 2
7. 5. The determinant of the matrix 0 2 921 is a K
< 00

ka0 (b) 8 (c) 16 (d) 32

[)‘ﬂ/,(sqzzare matrix whose inverse does not exist is called

/ {a) Non-singular (b} Singular  (c) Symmetric (d) Skew-symmetric

e

/.logm $2 =
N

2 i,\:}
(a) 2 + IOglO it (b) 2— 10%10 x \"’(/C’)/XQ IOgIU T (d) (}Oglo ;1',‘)2 Jle

e

8, 16g,p 1 =
. / lnlg < Ing 1
\ 7 (8) n10lng b) & OB (d) mromz

%he base of natural logarithm is
\,/ (@) 0 (b) 10 _fJ7e (d)2

“He function sinh z is defined as

z -

—
() &&= 0 e A (&) 5—




-

<

/}’he function sec z is not defined on the point

T (@ a=0 (b)) z=n/4 feyw/2 (A7
12.-The function tan z is defined as
A e () e (5 (d) 5=

F":‘J’

13 ’1‘3’16 binomial coeflicient "C}, is defined as L M
Hn—k)! 1k! ! - R _
S im0 T @ @) Ay

k//@Ale area of a circle is

f (a} 2zr  {(b) =r Qe}/ﬁ’?/"z (d) wrd
//\

Lﬁ()ne angle of a regular hexagon is equal to
(a) 60° (b) 90° f(ey"T20° (d) 150°
e

//1,6’/ The sum of cube roots of unity is equal to
@l ) 1 e (@

/
17, cosfzT +y) =
(a) coszcosy+sinzsinyg cosrcosy — sinzsiny

(c) coszcoshy —sinzsinhy  (d) coszcoshy +sinzsinhy

18./Lef/; =1z +1y. Then cosz =

/(a) coszcosy —isinzsinyg  (b) coszcosy +isinzsiny

_AeY cos z coshy — isinz sinhy (d) coszcoshy + isinzsinhy.

-

//
19. sinr =
L////()':; sinz +cosy  (b)sinz—cosz (c) sinz + cos’z Mnxcos T

- 20. cos2z =
>\ Aaycos?z —sin?x (b) 2cos?z—1 () 1—2sin*z  (d) All of above.

e

21. ’_’F/hé/number 7 is

N / (a) an integer (b) a rational number ey an irrational number

(d) a natural number

22. The number % is

(a) an integer (b) a rational number ((,e}”‘éih irrational number

(d} a natural number.




. A number whose square is a negative number is

(a) areal number _{b) a complex number (c) an integer

\/he range of the function sinz is
=7, 7] b} (—m, %) A4y [-1,1]  (d) (=1,1)

. range of the function tanz is

[, 7] b) (~m,m) {c) [—121] /(’dj/(_oovoo)'

26. The qudtzon of straight line in given by

\ y2=mz+c JAPyy=mztc (o) y=mz?+c (d) y?=mz?+c
\,5«%\/:%/ /C 2 The equation of straight line passing through the points (4,2) and (1,3)
bﬂ{_&%"\ 3$my—10 (b) 3z +y=10 (c) 2~3y=10 (d) z+3y=10.
ey 2 _ 164 A
%»A‘;" \_}{5\ _Fhe radius of the circle (z — 1) 4+ (y — 2)2 = 16 is . \ SO\
. A
Qt;" (a) 16 _(b) 4 (c) 2 (d) 1 ATV
?

€ s§0pe of tangent to the curve y = 22+ 3z + 6 at z = 2 is
@6  My7T (@3 (A2

he equation £- ® y— = 1 represents

circle ) parabola ﬁ,{ef"éﬂi)pse (d) hyperbola
A .
e equamon 92?% — 4y% = 36 represents g
circle ) parabola (c) ellipse /fdfi;yperboia. ?
- The derivative of tanz is
(a) cosz sinz (c) secz  _A{d) sec’z
\/4/{1:;13 derivative of cosztanz is
&) cosz (b) tanz {¢) sinz (d) —sinzsec? z.
35 he integral of cot z is
&) In(sinz) (b) In(cosz) (¢} cosx (d) In(cos z) + In{sin z)

36. 'Ehe/iﬁtegral of ze*’ is
g
(a) e +¢ AB) S e (c) 2¢% + ¢ (d) e + 22267 4.

9. The radius of the circle 2® + 4% + 2z + 2y + 1 =0 is
b) 4  A4T2 (@) L

{d) none of the above

\@_

e A

W
N vow

(\‘V\S\_v\v\*L

=y

e time

Pl
1

7.

.



///

el
_\H/.ﬁ %(Iogam) =

() £ () llog,e 4T o= (d) lla

\//Mfgﬁdmm B gik ;;_LQ(:'"M
(a) 32 (b) —16 (¢) 16  «d)o. Tlay 8

e sum and product of roots of the equation 2z%2 + z + 1 = 0 are

(@) ~1~iv7,—1+iv7 7 -1 (¢ =1,1 (d)21

O o fmi

I - N
40. The multiplicative inverse of the matrix is o L

% 2 1
/ -1 0 -1 0 1 0 1 0

/ ~{a) (b) ey (d)
Vs —2 -1 2 1 2 1 2 1

41. The general solution of the differential equation y"(z) — 5y/(z) + 6y(z) = 0 is

(a) crsin2z +cysindz ) ¢ cos 2z + cg cos 3z

__/ ) (c) c18in2z 4 cacos3z  (d) 162" + cge¥®
%’,Mhe function f(z) = z is

\/ {a) a constant function (b)Y the identity function  (c) an even function
(d} None of the above

—
L

/Z/If the dot product of two vectors is zero then the vectors are

\ (a) parallel (b) equal _{cyPerpendicular  {d) None of the above

- . pr3 \f‘""‘tf s3 bo
44. One degree is equal to sy
o A el
(a) mradians  (b) w/2radians  {c) /4 radians 4d) 7/180 radians i f’g_z: ‘

5. iy 222
@O AT (@) s (e

98 e (1+3)"

w7 @0 (b)) 1 (¢ oo AdJe
47. ‘T'he functions log, z and ¢* are

a) same  (b) reciprocals of each other ey inverses of each other

= (d) None of the above

48. Set of irrational numbers is a subset of

/(zﬁb’)fféet of integers  (b) Set of rational numbers ,(Cj’/S'et of real numbers



49. T_};}e"'ih%erva]s (0,1) and (-1,0) are

.\/(a) overlapping  (b}-disjoint  (¢) neither disjoint nor overlapping
(d) both disjoint and overlapping

50. ”é’aﬁation y = (x — 1) + 2 represents
' (a) acircle _{bJ7a parabola {c) two parallel lines  (d) two perpendicular lines
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Max. Marks: 50 Date: Jan 20, 2023 Time: 1 Hour

Name....‘.\.{k...‘f..f.‘..B.\’.\.iz..v.\.... Father’s Name;. (\\‘-. Jasiy, 7 AN VA

Note: Make sure that you got 50 questions on your test. Each question carry equal marks.

R

/l The roots of the equation 2 — £ — 6 = 0 are R L

(@) 23 (Y23 (9 2,3 (d) -2,-3 RS

he equation 2z + 3y = 0 has

: (a) Nosolution (b) exactly one solution  (c) exactly two solutions
vV . . . e .
(d) infinite solutions_— LT T
e - T - — - R 5 s = -
3. The¢'roots of the equation 22 + 2z + 2 = 0 are ; . ThE

(a) —1—4,1—i (b) —=1-4,1 -4 (¢) 1—i, 147 {d)—1—4i—1+ii—o

) 2 4 6
”ngminant of thematrix {2 4 61! is
- 3 57
(a0 (b) 15 (c) 48 (d) 105.
2 2 2 e |
5. e determinant of the matrix |0 2 21| is 4
- 00 2
(a) 0 (bY 8 {(¢) 16 (d) 32
T
e

\//6/ An square matrix whose inverse does not exist is called

(a) Non-singular (b\) Singular  (¢) Symmetric  {d) Skew-symmetric

(a) 2+logigz  (b) 2-logpz () 2loggT
' (a) '.En i0hnz (b) 11;113? “Ing {

\/Q’fhe base of natural logarithm is

(&) 0 (b) 10 () e (d)2

(logyg z)?

134 The function sinh z is deﬁned as

() S55 ) S (0 T (@ g

eiez




11. The function sec x is not defined on the point

a) =0 (b) 2=n/d (c] w/2 - (d) n

The function tan r is defined as

T’"““'“zilei:m} (b) q‘;—%}j (c) &35 (d) e

13. The bmomla,l coeflicient "}, is defined as

L G&j """"" { - k)1k5 (b) n'_!(%_kﬂ (C) (;)1};;;)' (d) (nilk)l"w\

14, e area of a circle is

Voo (a) 2nr (b} wr (,e)m:z (d) mrd

}// O/ne angle of a regular hexagon is equal to
W (a) 60°  (b) 90°  (c)190°  (d) 150°

}/The sum of cube roots of unity is equal to
(b) =1 (L 0 (d) oo

\/COS(CL’ +y)
€OSZ COsY +sinxsiny W@ﬁos y —sinzsiny
coszcoshy —sinzsinhy  (d) coszcoshy +sinzsinhy
><
sin 2z =

\ (a) sinz+cosy  (b)sinz~cosz (c) sinz + cos’s (d);/l'ﬁ'sﬁiﬁ:c CO8 T

8. Let z =z +14y. Then cosz =

v(a) coszcosy —isinzsiny  (b) coszcosy +isinasiny
{¢) coszcoshy —isinzsinhy  (d) coszcoshy + isinzsinhy.
T

: 20. cos 22: =
(a) ‘cos?z —sin’z (b) 2cos?z—1 (c) 1—2sin%z (d) All of above.

\/Z/}le number 7 is
(a) an integer {(b) a rational number (c).ar irrational number

(d) a natural number

he nurnber
\, ) an snteger (b} a rational number (¢) an irrational number

) a natural number.



-

\%mmber whose square is a negative number is

{a) a real number (b) a-complex number  (c) an integer

\/45(3 range of the function sinz is
| @) [=mal () (=mm) (o). [-11]  {d) (=1,1)
/254 range of the function tanz is

V@) 0 ) (© LY (d) A0, o0).

26 The equation of straight line in given by

- (a) ¥ =mz+c Dy=mr+c (c) y=mal+c (d) y=mai+c

\
28. The radius of the circle (z — 1)? + (y — 2)® = 16 is
(a) 16 ®-1 (o) 2 (d) 1

//__

. The radius of the circle 2% + 3 + 2% + 2y + 1=0is G ; ‘

(a) & (b) 4 (e) 2 (d) 1o

“The slope of tangent to the curve y = 22 + 3z + 6 at x = 2 is
. (3 6  ®F7T (3 () 2

gl Lo .
31, The equation - ® y— = 1 represents
S {a) circle {(b) parabola (e ellipse (d) hyperbola
32 The equation 922 — 4% = 36 represents
| / (a} circle (b) parabola (c) ellipse (dy "]'i}perbola.
-33. The derivative of tanz is
Vi b) s o
a) cosz (b) sinz {c} secz (d}sec® x T \Uﬂ
4 1 ¥ -.'.J‘\—" R u\d; e o
f\/ 34. The derivative of cosztanz is ____ Ve . e T 7/6’ S
(a) cosz (b} tanz (c} sin:§ (d) —sinzsec? .
/5 The integral of cot z is
N . (8 In(sin z) (b} In{cosz) (c) cosz (d) In{cosz) + In(sin z)
36. The integral of ze® is _
47 2
(a) e +c (b)) &+ (c) 2¢% + ¢ (d) e + 22% +c.

(d} none of the above

Vﬁe equation of straight line passing through the points (4,2) and (1,3) is
(a} 3z—y=10 (b)3z+y=10 (c¢) x—3y=10 (/d)/.ff'_;_f?)y - 10.

A
Lt g -
P
0ol
11
e w o
Y e
¢ -2
R
v
ERAE
-
5



e
c_%(i()ga 37) = -
) 1= 1
(a) % (b) i—ioga z (I (d) +1na
ot i b i
35 %00 = L

(@ 32 () -16 () 16  (d) 0—

e sum and product of roots of the equatéon 222 + .+ 1 =0 are s

(8) —1—ivT,—1+iv7  (b}=Ll (¢ -1,1 (421

39.

10
40. 'Lhe multiplicative inverse of the matrix is
/ 21
\/ -1 0 -1 0 10 1oy’
(a) (b) (© (@
~2 1 2 1 2 1 —2 1

41,-The general solution of the differential equation y"(z) — 5y/(z) + 6y{z) = 0 is

ot b

\/ (a) c1sin2zx +cysindz (b} ¢1cos2x + cpcos3z R
o r‘ﬂ.l.,.},—mw"_ e e ly =

(c) e1sin2z +cgcosdr  (d) c16% + pe®

4%, The function flz)==zis P R ,~-.H:;- )
\// {a) a constant function (b,)the identity function  (¢) an even function
(d) None of the above
.'If the dot product of two vectors is zero then the vectors are
\ (a) parallel (b) equal (c) p‘efpéﬁdicular (d) None of the above
\/4/118 degree is equal to PR
{a) mradians (b) 7/2radians  (c) 7/4 radians  (d) 7/180 radi;;é
SR <
SR

j/( T B "15(\ E L\‘,._“é““ o GV - 2
V@ w1 0o @ : Flew

1mnm»oo )
\/ )1 () o (d)e
e functions log,  and e are
{a) same  (b) reciprocals of each other (¢} inverses of each other

d) None of the above

Set of irrational numbers is a subset of
) Set of integers  (b) Set of rational numbers  (c) Set of real numbers
L

) set of algebraic numbers



1 49. The intervals (0, 1) and (-1,0) are

{a) overlapping (b) disjoint  (c) neither disjoint nor overlapping

'm digjoint and overlapping

50. The equation y = (z — 1)? + 2 represents

a) a circle (b)/@.p&fé}oﬂola (¢) two parallel lines  (d) two perpendicular lines



Max. Marks: 50 Date: Jan 20, 2023 Time: 1 Hour

Name:.. / .Wfé%/? /ZZ /éif} Father’s Name:....... ?/ﬂﬁmé /

ke sure that you got 50 questions on your test. Each question carry equal r_r_}_g,rks.

" The roots of the equation 22 —z — 6 =0 are

(@ 23 EF23 © 23 (d)-2-3

2. The equation 2z + 3y = 0 has

o solution  (b) exactly one solution  (c) exactly two solutions

(d) infinite solutions

3. é;oots of the equation 2% + 2z + 2 = 0 are
\/ (a) =1-4,1-4 (b) =1-4,1~4¢ (c) 1—4,1+1 @kii,—1+i.

2 46
2 4 6] 18
3 57
(d) 105.
2 2 2
/”ﬁle determinant of the matrix {0 2 2| is
N o 0 0 2
\/,

(a) 0 @bf)\Z re () 16  (d) 32

/An square matrix whose inverse does not exist is called
' (a) Non-singular @ éingular {¢) Symmetric  (d) Skew-symmetric

/‘ﬂ{mmz =
| (a) 2+logpx (b) 2—logygz

(f) 2logygx (d) (logyyz)?

8. logpz =
C’“‘;Lf"zm p) lnio nz 1
. (a’) n nzT ( ) Tnz (C) n10 (d) mi0lnz-

. 9. The base of natural logarithm is
\\7& U 10 (c) e (d)2

ion sinh z is defined as

e

(b) i:g:z (f) ex_ze_r (d) ?j.cizfﬂ




11. The function sec x is not defined on the point

v {a) z=0 (b} z=x/4 (c) 7/2 )

12. The function tan z is defined as

ei:cmen-ia: em >/;:z+e“il‘ Eizwe ¢ ew:_l_e—m
8) T b)7 yemeesy (©) (d) :

/ 13 The binomial coefficient (Y}, is defined as

\//M@!kt (b) E[(ika_)‘ (C) (r:ii)! (d) (nﬁc)!

\-//L/The area, of a circle is
(a) 2nr  (b) =r o art  (d) mrd
15. One angle of a regular hexagon is equal to

. H /,_ ©

% @“ 60°  (b) 90° (¢) 120°  (d) 150°

fe sum of cube roots of umty is equal to
(a) L Q 0 (d) oo

17. cos sc-’ry)

%\ 6 cosrcosy +sinxsiny  (b) coszcosy —sinzsiny

(c) coszcoshy —sinzsinhy  (d) coszcoshy+sinzsinhy

18. Let 2 =z +dy. Then cosz =
/

\L/ ;
\k {a) coszcosy—isinzsiny @’cosxcoa y+esinzsiny

(¢) coszcoshy —isinzsinhy  (d) coszcoshy -+ isinzsinhy.

19. sin2z =

(a) sinz 4+ cosy @“gm/as —cosz  {(c) sin*z +cos’s  (d) 2sinzcosz

I
£

l20. cos 2z = -
/ 2 2 ol )%
/oo {(a) cos®z —sin“z @ cos’z—1 (¢) 1-2sin®z @ Il of above.
21. “foe number 7 is
4
'\/’ (a} an integer (b} a rational number @am irrational number

i

(d) a natural number

22. The number % is

!/“ . ' EZ//.’/
\‘z\\(a) an integer (b) a rational number {c) an irrational number
7 o

(d) a natural number.



3. A number whose square is a negative number is

e
(a) areal number ((b)¥a complex number  (c) an integer  (d) none of the abave

24. ‘T'he range of the function sinz is
. /;) m] ) (mn) (L @ 1

/, 25. The range of the function tanz is
; /
TS @A ) rm @ L @ (—o0,00)
he equation of straight line in given by
(a) y? =mz+c (b@ﬁ/rﬁm-i—c ) y=mz?+c (@ ¥=mz?+c
;Y/The equation of straight line passing through the points (4,2) and (1,3} is
L @ m-y—=10 (D)3sty=10 () z-3y=10 (@F%F 3y =10
%he radius of the circle (z — 1)2 + (y — 2)2 = 16 is
|
o (a) 16 (o)} 4 (c) 2 (d) 1
KQ. The radius of the circle 22 + 42 + 25+ 2y + 1 = 0 is
@s 1 @2 @1
The slope of tangen‘c tothe curve y =22 + 3z + 6 at z = 2 is

(a) 6 @) 7 (c) 3 d) 2

31 The equation - . y“ = 1 represents
L
.\// (a) circle (b} parabola @ ellipse {d) hyperbola
32 The equation 9z? — 4y? = 36 represents

}, @ circle (b) parabola (c) ellipse (d) hyperbola.

33. The derivative of tan z is
L
7Q COST (b) sinz Cﬂi{;x @ sec? z

34. The derivative of cosz tanz is )
cos (b) tanzx S/) sin z (d) —sinzsec?z.

Ve 35 The integral of cot z is
/f*"
% (a} In(sinz) (b) In{cosz) (c) cosz (d) In(cosz) + In(sin z)
/ >

36. The integral of ze® * s ,
LK e 2 A 2 7%
\k a) +e {(b) S5+ (c) 2¢* +¢ /cjy} e¥ + 2zeT 1o,

3






>« -[\(loga =
) )1 1

(b) ilogam (¢} +ma (d) zIna

/2 dr =
) =16 (c) 16 b

-
39.-The sum and product of roots of the equation 222 + 24+ 1 =0 are
- -
\/// (a) ~1—iv7,~1+iV/7 [(b) "'“5, 3 (o) =11 (d)21
. 0} .
40. The multiplicative inverse of the matrix is
). 21

>\ -1 0 -1 0 10 1 0
PERN(Y (© (@
' -2 -1 g 2 1 21 -2 1

41. The general solution of the differential equation y"(z) — 5y/(z) + 6y(z) = 0 is
//’\
(a) ¢y 8in 2z -+ ¢ sin 3z @cl cos 2x + ¢y cos 3z

c18in2z +cpeo83z {d) c1e®® + cpe’®

42. The functxon flzy==zis
( & constant function  (b) the identity function (c} an even function

) None of the above

><43. If the dot product of two vectors is zero then the vectors are
£
@ parallel  (b) equal  (c) perpendicular  (d) None of the above

s

\v/%ae degree is equal to Y
(a) T radians (b) m/2radians  (c) /4 radians @;ﬁ/ 180 radians
m@—»ﬂ z i
L
/ Q 1 (e} o @)\el

(46, limpsoe (14 1)" '
L
/\)K G @e

(@) 0 (b) 1

47. The functions log, z and e” are

x/K (a}) same @/ {fég;;)rocals of each other  (¢) inverses of each other
' (d) None of the above

48 Set of irrational numbers is a subset of

e
(a) Set of integers {b)"Set of rational numbers  (c) Set of real numbers

{d) set of algebraic numbers






/ 49. The intervals (0,1) and {-1,0) are

7

{d) both disjoint and overlapping

50. The equation y = (z — 1) + 2 represents .

— o

/ -
;\\. (a) overlapping (b) disjoint (* (c) neither disjoint nor overlapping
L

E/‘K (a) acircle (b) a parabola @} %0 parallel lines  (d) two perpendicular lines

%y I 2 o

W - ? ,,r( jq_-:gﬂ,

>

X s
(v 2 (J-2) =16 ,
-3 EJ -

( yz,_z i f;t,zg) i (( 7{;_ 7""?/7 J::/é 7

.
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Note: Make sure that you got 50 questions on your test. Each question carry equal marks.

2 z—6=20are

(@) 2,3 (b) -2,3 e 2,3 (d) -2,-3

. The roots of the equation z

K 2. The equation 2z + 3y = 0 has

/7 fa)y Nosolution  (b) exactly one solution  (c) exactly two solutions
/

(d) infinite solutions

3. The roots of the equation z* + 22 + 2 = 0 are
k
\j\ (8)~1—i,1—i (b) =1—i,1—i () 1—41+i (d) 1—i—1+i.
24 6
4. The determinant of the matrix { 2 4 § | is

ﬁzx 357
o @o ()15 (o) 48 ey10s.

— 2 9 9

. The determinant of the matrix 0 2 2] is

00 2
(a) .0 Wi 8 (c) 16 (d) 32

/
e
e

/6. An square matrix whose inverse does not exist is called
pd
N (a) Non-singular  (bY Singular {¢) Symmetric  (d) Skew-symmetric

7-logig 2’ =

(a) 2+loggw (b) 2—logyu (¢) 2logygz (d} (logypz)?

-

%gzoﬂ«" =
N In10

(a) m10lnzx

.

y 1
| (b) e mip @) moms

- / 9. The base of natural logarithm is
/

\/} (@0 (b) 10 (e (d)2

10. The function sinh 2 is defined as

x

ORI RV gt







\il. The function sec z is not defined on the point
Ve z2=0 () z=n/4 () 7/2 (d)n=

s

12. The function tan z is defined as

iz

iT - ix —iz T, -iT é:z:+ —ia
@) s P iEem © (d) =5
13. The binomial coefficient ™C}, is defined as

@ w9 © @ @t

y’fhe area of a circle is
(a) 2nr  (b) =7 (\c’r ar? {d) 7rd

?@ﬁe angle of a regular hexagon is equal to
S (a) 60°  (b) 90° e 120°  (d) 150°

. -\\X
s

w\\/<‘
y e

<

/'- 16. The sum of cube roots of unity is equal to
AL Wl ) 1 @0 @

17. cos{z + y) =
d] coswcosy+sinzsing  (b) coszcosy — sinzsiny

(c) coszcoshy —sinzsinhy  (d) coszcoshy +sinzsinhy

s 18. Let z =z +4y. Then cosz =
\;‘/\\- (a) coszcosy —isinzsiny (b coswcosy + isinzsiny

i
!

/ (c) coswcoshy —isinzsinhy  (d) coszcoshy+ isinzsinhy.

19. sfn 2z =

(a) sinz+cosy (b)sinz—cosz (c) sinz+cos’z &) 2sinzcosz

/5' 20. cos2x =
\/‘\ cos’z —sinz  (b) 2cos’z—1 (¢} 1-—2sin?z (d) All of above.
' 21. Fhe number 7 is
(a) an integer (b) a rational number \éffan irrational number

(d) a natural number

22. Thenumber % is
a) an integer (67 a rational number (¢} an irrational number

AN (d) a natural number.
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><\ 23. A number whose square is a negative number is

/ (&) a real number  (b) a complex number (¢} aninteger  (d) none of the above

. 24. The range of the function sinz is
?4_\ @ lmal () (-mm) (9 L1 @) (-1
25. The range of the function tan z is
\'< @) [mx] ) (mm) @ L1 (@) (~o0,).

26 The equation of straight line in given by
{(a) Y*=mz+c ‘{flﬁfy:m:c—%c () y=maz?+c (d) v¥*=ma?+c
;Z,/TEE equation of straight line passing through the points (4,2} and (1,3) is
v (a) 3z-y=10 ®3x+y=10 (c) z-3y=10 & z+3y=10.

Vh@' radius of the circle (z — 1)2 4+ (y — 2)2 = 16 is
() 16 @ 4 () 1

\/ a {c) 2
29. The radius of the circle z% + 2 + 2z + 2y + 1 =0 is

‘}Q @5 B4 @2 (@ L

~ 30. The slope of tangent to the curve y = 2%+ 324+ 6 at T = 2 is
/* :
S @e 7T s ()2

x’“31‘ The equation %2 -+ yg—z = | represents

\,& (a) circle by parabola (¢) ellipse (d) hyperbola

\}T@ equation 9z2 — 4y? = 36 represents
' (a) circle (b) parabola (c) ellipse TtV hyperbola.

/+33. The derivative of tanz is

/ {a) cosz "(5’) sinz (¢) secz (d) sec?z

» 34. The derivative of cosz tanz is
/
\/\ (a) cosz (b) tanz [ey sinz (d) —sinzsec?z.
35,.-The integral of cot z is
/ .
\/’ &) In(sin ) (b) In(cosz) (c) cosz (d) In(cos x) + In(sin z)

36. The integral of ze® is
2

| AR & e (b) -‘5;— +c (c) 2¢%" + ¢ (d) e + 222" 4 ¢
/
/

i
J 3



37. £(log, z) =
(@) 3 W ilge (o) zup (d) flna
“ 38 f32m3d1.:

/ :
>\\ @32  ®f-16 ()16 (o

, " 39. The sum and product of roots of the equation 2% + z + 1 = 0 are
, (a) ~1—iV7,=1+iv7T (b)) —-5,5 (o) —1,1 21

7

40. The multipiicative inverse of the matrix is

/ 2 1
N\ -1 0 -1 0 10 i 0

(a) (b) (¢) ()
—2 -1 2 1 2 1 —2 1

* 41. The general solution of the differential equation y"{z) — 5y'(z) + 6y(z) = 0 is
el cpsin2z +ecasin3z (b) c1cos2x + cpcos 3z

(¢) crsin2z +egcosdz  (d) c1e?® + cpe®®

42. Thé function f(z) =z is
(a) a constant function  YpJ the identity function  (¢) an even function

(d) None of the above

~If the dot product of two vectors is zero then the vectors are

(a) parallel (b) equal MGGrpendicular (d) None of the above

L}ﬁﬁﬁéﬁ‘égree is equal to
{(a) mradians  (b) m/2 radians  (c) 7/4 radians fﬁfvr/ 180 radians

><iim9—>o§%—m
) (\a,’r(} (b) 1 (¢} oo (d)e

1)

L

6. limy o0 (1+ 1)
() 0 ()1 oo (de
47. The functions log, z and ¢* are

(a) same (b} reciprocals of each other  (c) inverses of each other

{d) None of the above

T
48. Set_ef irrational numbers is a subset of

\//(&) Set of integers  (b) Set of rational numbers 6@/)/ Set of real numbers
(

d} set of algebraic numbers



497 The intervals (0, 1) and {(-1,0) are
(a) overlapping \Mbj disjoint  {c) neither disjoint nor overlapping
(d) both disjoint and overlapping
- 50. The equation y = (z — 1)? + 2 represents

(a) acircle (b) a parabola s(c}"two parallel lines  (d) two perpendicular lines
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Max. Marks: 50 Date: Jan 20, 2023 Time: 1 Hour

Name:.MMi?x@@bQ«........ Father’s Namegk'}\?&}\\‘\i\”\qgé‘ :

Note: Makgsure that you got 50 questions on your test. Each question carry equal marks.

2 _z-6=0are

(2) 2,3 B -23 (o) 2,-3 (d) -2,-3

1e roots of the equation z

2. The equation 2z + 3y = 0 has
/

' {a) No solution \,(abj//éxactiy one solution (¢} exactly two solutions
7\ (d) infinite solutions

. The roots of the equation z2 + 22 + 2 = 0 are
IN{B) =i l—i (b)) —1-i1—i ~Nf 1=, 140 (d) =1—14,—1+4.

2 4 86
4. The determinant of the matrix | 2 4 g | is
\f\ 357
JE OV (b) 15 {748 (d) 105.

2 2 2
. 0 The determinant of the matrix 0 2 9 is

\ 00 2

(a) 0 (b) 8 (c) 16 J&732

~ 6. An square matrix whose inverse does not exist is called

\]\ ~&)” Non-singular  (b) Singular (c) Symmetric  (d) Skew-symmetric

/“’.7- logyga? =
TS @ 2tloggr () 2-lgpr (9 Zloggr  (d) (logoa)?
8 logyp =

Y (a) In10lnz (b) Wi lne. d) mitm

9. The base of natural logarithm is
\fg\ @0 (b) 10 () e (&2
/ _

_:,f! 10. The function sinh 2 is defined as

() & SR (o) gD (g) e




%11. The function sec z is not defined on the point
/ =0 () z=x/4 () x/2 (d)«

I

_ 12. The function tan z is defined as
%\_ (a) -Lo=e = (b) ot o T (d) €e™

/ i(etr+e—iw) e —e=ir) 21 24

. 13. The binomial coeflicient "}, is defined as
Hn—k)!
\é (@) a5 (@ M (@) oy

y 14. The area of a circle is

\\ M/Z?T’T (®) v () wr?  (d) wr?

15.-0One angle of a regular hexagon is equal to
Y (a) 60° (b) 90° &7120°  (d) 150°

16. The sum of cube roots of unity is equai to
\ @ (b)) -1 ()0 (@)oo

. cos(z +y) =
{a) coszcosy +sinzsiny  (b) coszcosy — sinasiny

(c) coszcoshy —sinzsinhy  (d) coszcoshy+sinzsinhy

. Let z =z +iy. Then cosz =

\(,af)/cosxcosy—isin:csiny (b) cosz cosy + isinzsiny

(c) coszcoshy —isinzsinhy  (d) coszeoshy +isinzsinhy.

/1”9 sin 2 =

(a) sinz+cosy (b)sinz—cosz (c) sinz + cos?z {d 2sinzcosz

7 20. cos2x =

Fi

(&) cos’z —sin’z  (b) 2cos?z~1 () 1—2sin’z {d) All of above.
21. The number 7 is

A\

(a) an integer (b) a rational number ey an irrational umber
(d) a natural number
22. The number -27—2 is

I {aj"én integer (b) & rational number (¢} an irrational number

(d) a natural number.

e



' 23. A number whose square is a negative number is
- (a) areal number (b) a complex number (¢} an integer \{d’)/none of the above

he range of the function sin z is
\,/ @ [ma]l ) (=mm) @ -11]  (d) (-1,1)
25. Phe range of the function tan z is

(@) [=mal () (=mm)  (¢) [-1,1] @ (~o0,00).

, 26. The equation of straight line in given by
%_ (a) Y¥* =mz+c (Bly=mz+ec \(z)/gjzme—i—c (d) ¥ =ma?+c

27. The equation of straight line passing through the points (4,2) and (1, 3) is

S (a) 3z -y=10 ¥ 3r4+y=10 (c) x—3y=10 (d) x4+ 3y =10
_ -

yfhe radius of the circle (z — 1)? + (y — 2)2 = 16 is
T (8 16 @4 (o) 2 (@) 1

29./TE/6; radius of the circle 2% 4 32 + 2z + 2+ 1=0Is

L// (85 ()4 (2 i

30. The siope of tangent to the curve y = 2% + 32 + 6 at z = 2 is
K 6 (b} 7 (c) 3 (d) 2

\’/\f\Si. The equation %2 + %—2 = 1 represents
/ (a) circle Jb) parabola (c) ellipse (d) hyperbola

. 32. The equation 922 — 4% = 36 represents

K (a) circle (b) parabola Jel ellipse (d) hyperbola.
P 33. The derivative of tanz is

\\ (&7 cosz (b) sinz (c) secz (d) sec?z

34. The derivative of cosztanz is

% (a) cosz (b) tanz (¢) sinzx \(-d‘)//—~ sin z sec? z,

;

/ 35. The integral of -Cotsr: is

>/\ (a) In(sinzx) \{»b'}/ln(cos z) {c) cosz (d) In{cos z) + In(sin z)

i

36. The integral of ze* is

. , :1:2

\['\(a) @ he () Gdc T 4 (d) e 422 1o
)
[~



s
X
b
L,
7
%

\>< 43.

o
%
e
Y

48.

.f..
\!<
i
7
7 .
/

45. hmg__,U

46. limy o0 (14 1)

%(loga z) =
(a) & by Llog, = © 715 (d) ;Ina
j‘z Sdm .

(a) 32 bV -16 (c) 16 (d) 0.
. The sum and product of roots of the equation 2z° + . + 1 = 0 are

(8) ~1-iv7,-1+/7 (b)) L% (9 -1,1 a2l

0. The multiplicative inverse of the matrix is
21
0 -1 0 10 1 0
(b) (c) (d)
-1 2 1 21 -2 1

j,lrré general solution of the differential equation 3’ "(z) — 5y (z) + 6y(z) =0 is
(a) cisin2z+cpsindz  (b) ¢1cos2x + cpcos 3z

(c) c1sin2x + cpcos 3z \[,df)’clez” + cge®

. The function f{z) =z is
&} a constant function (b) the identity function  {c) an even function
(d) None of the above

If the dot product of two vectors is zero then the vectors are

{ar)/parallel {b) equal  (c) perpendicular  (d) None of the above

44. One degree is equal to

(a) mradians (b) n/2 radians \A4¢T 7 /4 radians (d) =/180 radians

sin x

(@ 0 (b) I (e} co Sy

n

() 0 BT () o (de

47. The hnctions log, z and e are

(a) same (b{/réciprocals of each other  (¢) inverses of each other
(d) None of the above

Set of irrational munbers is a subset of

%t of integers  (b) Set of rational numbers  (c) Set of real numbers

(d) set of algebraic numbers



49. "LHe intervals (0,1) and (-1,0) are
Aa) overlapping (b) disjoint  (c) neither disjoint nor overlapping
\Qd’}” both disjoint and overlapping

50. The equation ys="{z — 1) + 2 represents

(a) acir b7 a parabola (¢} two parallel lines (d) two perpendicular lines



Max. Marks: 50 Date: Jan 20, 2023 Time: 1 Hour

R

Name:.. /008061~ Mo, Father’s Name:., NadGecds s .

Note: Make sure that you got 50 questions on your test. Each question carry equal marks.

2 _r—6=0are

() 23 (b) -2,3 {(c) 23 (d) -2,-3

he roots of the equation z

2. The equation 2z + 3y = 0 has

{(a) Nosolution (b} exactly one solution (c) exactly two solutions

b

(d) infinite solutions

3. The roots of the equation z? - 2z + 2 = 0 are

-K(a) ~1—i,1—i (b) —=1-i,1~14 {ch}l—i,lﬂd (d) —1~14,—1+1.

2 6

. 4
eterminant of the matrix |2 4 6] is
5 7
(

3
(b) 15 (c) 48 d) 105.
2 2 2
S/I@eterminant of thematrix |0 2 2] is
0

<
o

/
\/ (a) 0 (b\)8 (c) 16 (d) 32

S 2
R

i

_ / 6. An square matrix whose inverse does not exist is called
\;\\ {a) Non-singular (b} Singular ;(c) Symmetric  (d) Skew-symmetric
7. loggpa? =
(a) 2+logge (b) 2—logyx g(C}j 2logy @ (d) (logygx)?

i 8 logypz =

74 @ wiome @) B @ B @ i

" 9. The base of natural logarithm is
%\ )0 (1o (©e (@2
7

7

10. The f

¢tion sinh z is defined as

g F = -z IS e T -
reE ) & (o) S (d) €4t



A

11. The function sec z is not defined on the peint

(@) 2=0 () z=x/4 (o) 7/2 (dhn

12. The function tanz is defined as

/\/\. (0) Gy ) ey (S (@) S

13. The binomial coefficient "C;, is defined as

><. (&) whw k)'kl {b} nl(n < (r?ikk!)f (d) (nf!k)‘-

o
\_/ii/'Ph/e area of a circle is
A (a) 2nr  (b) =7 lc) ar?  (d) 7rd

_ /4 15. One angle of a regular hexagon is equal to
>< (a) 60° (b} 90° (c) 120° (d) 150°

Il

4
><16. The sum of cube roots of unity is equal to

ey

@1 ) -1 (@0 (d)eo

17. cos(z +y) =

y""‘\
\4 (a) cosrcosy +sinzsiny (b} coszcosy — sinzsiny

/ (C) coszcoshy —sinzsinhy  (d) coszcoshy+sinzsinhy

18. Let z = z 4+ iy. Then cosz =

j P _
/ (a) coszcosy —isinzsiny xQJX cosz cosy + isinzsiny
J  (c) coszcoshy —isinzsinhy  (d) coszeoshy+ isinzsinhy.
. x’{//"
19. si

. . . %
{a) sinz+cosy (b)sinz—cosz (c) sin®z+ cosiz (d) 2sinzcosz

20. cos2z =
AN (a) cos?z —sinz {bj 2cos?z—~1 () 1—2sin?z  (d) All of above.

21. The putber 7 is
\ M an integer {b) a rational number @ an irrational number
N ol

(d) a natural number

22. The number 22 is

7
™ (a)dn integer (b) a rational number (Mj an irrational number

. (4 a natural number.



‘7\23. A number whose square is a negative number is

/ {a) areal number (b} a complex number X(c)f an integer  (d) none of the above

><24. The range of the function sin z is
@ e 0w @ L1 (@ (L
% 25. The range of the function tan z is
S @ ) (© L1 (d) (—o0,00).
. 26. The equation of straight line in given by
% {E%j}yzzmm—lrc b)y=mz+c (¢) y=mztsc (d) v =ma?+c

.-/

27. The equation of straight line passing through the points (4,2) and (1,3) is
(@) 3s—y=10 (b)3z+y= 10 \,( ) z—3y=10 (d) z+3y = 10.

ZWradius of the circle (z — 1)2 + (y — 2) = 16 is
7 @ww 4 (2 @1

29. The radius of the circle 22 + ¢ + 2z + 2y + 1 =0 is
>< @s M4 (G2 @1

30./’1?55 slope of tangent to the curve y =22 + 3z + 6 at £ =2 is
" we ®7 (3 {d) 2

31. The equation % + y— = 1 represents
‘ ~ {a) circle \(\bl parabola (c) ellipse (d) hyperbola

32. The equation 922 — 4y% = 36 represents
/X (a) circle (b) parabola ( ) -ellipse (d} hyperbola.

g /36./I‘he derivative of tanz is

(a) cosz (b) sinz {¢) secx Q 1)) secz

34. The derivative of cosztanz is
2
{a) cosz b} tanz (¢) sinx (d) —sinzsec? .
35 ;he’mtegral of cotx is
/'/{( ) In(sin z) (b) In{cosz) (c) cosz (d) In(cosz) + In(sin )

L

36. The lntegrai of ze® i

/ 2 2
/9/} e +c (bl;g 52 +¢ (c) 2% + ¢ (d) e¥ + 22%" +c.
A

e



A%
b) Liog, = (¢) —f {d) 21na

zlna

-

a)ﬂ/;o.

',

o

{(b) —16 (c) 16 ‘

e

39. The sum and product of roots of the equation 222 + z+1 =0 are

>< (@ ~1-tF-14F ) b1 (@ -1l (@21

0
40. The multiplicative inverse of the matrix is
- - 2 1
/ -1 0 -1 0 P oY~ (1 0
V7 (v) (© dy
-2 -1 2 1 2 1 -2 1

41. The general solution of the differential equation y"(z) — 5y(z) + 6y(z) = 0 is

><" (a) c1sin2z+cpsindz (b)) ¢ co8 2z + ¢y cos 3z

, i(?:} c18in2z +cpcosdz  (d) c1e®® + cpe?®

42. The function f(x) =z is

{(a); a constant function  (b) the identity function  (c} an even function

(d) None of the above

43. 1 ftii'é.dot product of two vectors is zero then the vectors are

; (a) parallel (b) equal {a}perpendicuiar (d) None of the above

)QA. One degree is equal to
) S z(ﬂj w radians  (b) w/2radians () x/4 radians  (d) 7/180 radians

!

45. limg_,o T2

Ko@o ®1 ©o @e
/ ‘ - n

ynném (1+3)
(a) 0 (b) 1 (c) o k(d}e

47. Thefunctions log, z and % are
5
a) same  (b) reciprocals of each other {{c)} inverses of each other

{d} None of the above

48. Set of irrational numbers is a subset of

/ (a) Set of integers ~ (b) Set of rational numbers  (¢) Set of real numbers

K(d} set of algebraic numbers
/ -

{ 4



49. The intervals (0,1) and (-1,0) are

i~ 7

X (a) overlapping (b) disjoint  {¢) neither disjoint nor overlapping
s " )

L(d) both disjoint and overlapping

e,

=
50, The equation y = (z — 1)? + 2 represents
PN . .
\ (a) a circle (b}, a parabala  (c) two parallel lines  (d) two perpendicular lines

o
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